F 55 (string)
str()
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s = 'Peter'
for ¢ in s:
print(c)

s = 'Peter'
t =s + '"Mary'
print ('l t=", t)
t += 'Tom®

print ('2 t=", t)
u=s%*3
print ('3 u=

» u)

PeterMary
PeterMaryTom

PeterPeterPeter
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s = 'Peter'

for i in range(2, len(s)):

print(s[i])

# LEE 5126745 - Fllen(s)-1

# AESINEEEUENFTT

1~ for i in range(65,65+1@):

2
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print (i, "'-->",chr{i))
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#IETT RO B R A LUE S T —717
s6="This 1s \

Tunhgail University.'

print ('s6="',s6)

UM ESSEE R AE
sb="'This 1s

Tunhgai.'

print (s5)

QWO AWM

1

s6= Thi1s 1s Tunhgail University.
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FER AR ARY SO KR AVES
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1 s1="This is the department of Applied \

2 physics of Tunghai Unversity. All students \

3 of this department are learning Python happily. \
4 Agree?’

5 print ('sl:',sl1)

6 s2="""This is the department of Applied

7 physics of Tunghai Unversity. All students

8 of this department are learning Python happily.

9 Agree?""™
1@ print ('s2:',s2)

sl: This is the department of Applied physics of Tunghai Unversity. All
this department are learning Python happily. Agree?

s2: This is the department of Applied

physics of Tunghai uUnversity. All students

of this department are learning Python happily.

5 e O A EIRHR (I TSR - (B =S [5R( Ry &
EBEE A T RITEE - FTVEEEREAETs1HAT > 281547



=7 ER: ascii code: ord(A’), chr(65)

# F R AFR

c = input("# A—@ERF: ")

# F B \ASCIIIE

a = int(input ("5 A —{EASCIIfE: "))
print( ¢ + " BYASCII #5&", ord(c))
DPlnt( a, " HEMFFRE", chr(a))

$ - (IASCIIn% 54

#=1{EFTEi " ascii Code
TA=ord('A")

print ('ascii of A=',IA)
4~ for 1 in range(IA,IA+10):
5 print (i,chr(i))
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s s21= s 115 115
521=

1 ascii =[]

2 word = str{input("#; A TFE"))
3~ for 1 1n word:

4 a = ord(i)

5 print(a)

6 ascii.append(a)

7 print(ascii)

8~ for 1 in ascii:

9 pPint(chP(i),end=")
10 prlnt( ")

1 TA-ord('AB')
2 print ('ascii of A=',IA)
rraceback (most recent call last):

File "/home/profycchen/PYTHONL/tmp2.p
IA=ord('AB")

UHTITOTMOOm

rypeerror: ord() expected a character,

[25105, 24859, 20320]
but string of length 2 found X S

E =,
: L gy ey
X R
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o7t (a*3)

® 5 i (a+b)

@735 [a[2:5]
a="Hello’
a3=a*3 #ii Ay 7 BB PN S I8 %38
print ('a=',a,' a3=',a3)
b="Python"

@H'tb#ﬁﬁ%%$$W%ﬁ%ﬁ~ﬁﬁﬂ¢%%~@%%%%
print ('c=",c

print ('a[1:4]=",a[1:4]) #F[HlHaFENFIAFEIFENE

print ('Physics’'[2:6]) #5E] H & 'Physics "By L 2F| FF BN E

1
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7/
8

a= Hello a3= HelloHelloHello
c= Hello Python
a[1:4]= ell




T 9%10s-> “FERSERY - BHIN R R0 -
T’ in string %3d-> BEBEERY - Byt R 3
BRLFIEIRER  %6.AF> BB - WA R R -/ NEEE R R -

s6="FE N EERIPIEE & "+ Tunghal’

print ('s6=",s6)

print ('T in s6:','T" in s6)

print ('T not in s6:','T" not in s6)

print ('FIAHEI BRI T RANHIHEEAINE"+"="%10)

print ('Marry',19,51.2)

print ('Jane’,21,45.25)

print ('Christina‘',23,102.)

print ("Name:%1@s, age:%3d, weight:%6.1f kg" % ('Marry',19,51.2))
1@ print ("Name:%18s, age:%3d, weight:%6.1f kg" % ('Jane',21,45.25))
11 print ("Name:%1@s, age:%3d, weight:%6.1f kg" % ('Christina',23,102.))

= s A2 E Y 2 & Tunghai
1n sb6: True
not in s6: False

W oo~ W wn -

arry 19 51.2

Jane 21 45.25
hristina 23 102.
Marry, weight: 51.2 kg
: Jane, weight: 45.2 kg
: Christina, weight: 102.0 kg




HEEEERE T RAEE DT R pE(splity | TRl El(split)
sl="You are a student. Check your email. \

Work hard."

print ('sl:',sl)

print ('====uﬁ%fﬁﬁﬁgﬁ?%%%$$fﬁﬁ {EFrHY T FK===="
s2=sl.split('.")

print ('type and len of s2=',type(s2),len(s2))

print ('s2:',s2)

O~ v B WwWpMPRE

s1: You are a student Check your email. work hard.
==== [\ ‘a] Z @ o7 & 15 5 v Bl 7 82 5 B — (@ 1 ] R====

type and len of s2= <class '11st'> 4

s2: ['You are a student’', ' check your email’, ' work hard', '']
>




1 #FEFEAENERRMAEZEFZEERE B (replace)

2 s2=['You are a student', '',' Check your email', ' Work hard', '']

3~ for 1 in s2: =

p orint (1) F&5:Hlf (replace)
5 #FREPRFSELEHREMEILREZEFERMEEEEEEFZHEHR

6 #HAF—LFds2[2],s2[3]ARBER—EEH - MAEREEEZEREE - Istrip
7 print('-'*4@)

8 s3=[]

9~ for 1 in s2:
10 if(len(i) < 1): continue #len<lfy- = 22258 HhiE -
11 il=i.lstrip()+"!"

12 i2=il.replace('e’,'E') #FFEEF/NENe N HRKFHIE
13 print(i2)

14 s3.append(i2)

15 print ( 's3:',s3)

ou are a student

Check your email
work hard

['You arE a student!', 'check your Email!', 'work hard!']

1 #rEEERE T RMEE YT E R BE (Goin) - FERE (join)

2 s2=['You are a student’, ,  Check your email', ' Work hard', '']
3 print ('===".join(s2))

Check your email=== work hard===




T8 FEEREREPRAOEEFRERIE - GFEE(replace) » 43
E(split) - EH&E(join) o JHELE AL ERAYZER (Istrip(), rstrip())

1 sI="""RERESREEAVEZNEL - FOBEGRRE

2 fRAytmailEFEAEERE - RERFER

3 LIFRAEG R R - """

4 print ('sl:',sl)

5 s2=sl.replace(’'\n’,"'") #{&sIEHFHAVATHEMITR R ERAE » s1=317 » s2=117 »
6 print ('s2=",s2)

7 s3=s2.split(' - ') #split 7 7% » s2=FE-->s3=F]F . DI" - "47HEs2
8 print ('s3:',s3)

9 s4=[]
1@~ for 1 in s3:
11 if(len{(i) < 1): continue
12 il=i.1strip(); i2=il.rstrip()+"'!"
13 s4.append(i2)

14 print('s4:',s4)
15 s5="+++'.join(s4); print('sS:' s5) #jOln;Zﬁﬁ v 84=%1Fz-->85=FE




F-ER (string)

1 s1=[32,56.2, 'you']
Example-1 2 s2=str(sl)
str() 3  print (type(s2),' s2=',s2, s2[@], s2[16])
len 4 num = 9@
max 5 s4 = str{num) # '90"
min 6 s5 = str(3.14159) # '3.14159°
7 s6 = str(5.5e2) # '550.9°
8 s7 = str('MaryTaylor')
9 ss=[s4,s85,86,s57]

1@~ for 1 in ss:

11 print (type(i),i)

12 print (len(s7)) # ZEFH 211
13 print (max(s7), ord(max(s7)))
14 print (min(s7), ord(min(s7)))

"str'> s2= [32, 56.2, 'you'] [ ]

"str'> 90

'str'> 3.14159
"str'> 550.0
"str'> MaryTaylor




=F.E (string) Example-2

1 s = 'Peter’
2 print (s[::2])  #{&E—(8F chits » HEE—E > B N —(E
3 print (s[:3]) # 17 B3 E T
4 print (s[-3:]) # E B3 oT
5 print (s[::-1]) #fERER—EFChEER > BERSE—EFIT
R e EERI{R A
1 s = 'abcdABCDabcd'
2 print (s.find('cd"))
3 print (s.rfind('cd"))
4 print (s.startswith('ab'))
5 print (s.endswith('ab"))
6 print (s. cmunt('ab'))
1 s =" Peter : : = N
2 print (s,'1l") ‘ﬁtuﬁfﬁéﬁﬁz% ﬁu%ﬁﬁ\ﬁ e
3 print (s.strip(),'1") E]l rfind() /£ 5 5= = AR T &

%%%@?@—Aﬁﬁmﬁﬁ LUPS 37

AFE] - gH[E]-1 - startswith() fe T 5

FRVHE S ETE EM BT - endswith()
w7 R Ah e e fe Y HET & o

count() 15 H 2T & HIRAYE -

Peter 1
Peter 1

>




